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1) the tidal volume of a person is 600 ml and his respiratory rate 10/min (dead space is 150 ml) his alveolar ventilation is :

a- 6000 ml/min

b- 4500 ml/min

c- 3000 ml/min

d- 5000 ml/min

2) from the previous question's information .MRV is 

a- 6 L

b- 10 L

c- 4.5 L

d- 5 L

3) regarding the lung compliance :

a- it's the ability of the lung to recoil 

b- it averages about 0.2 L/cm H2O

c- it increases by fibrosis

d- it decreases by emphysema

4) regarding the surfactant :

a- it decreases the work of breathing 

b- it increase the surface tension of the alveoli

c- if it was absent it causes the alveoli to burst 

5) O2 is carried in the blood by Hb :

a- 75%

b- 98%

c- 45%

d- 50%

6)when the intrapulmonary pressure = -1 cm H2O and the TPP = -7 cm H2O. the transpulmonary pressure is :

a- 8 cm H2O

b- 6 cm H2O
c- 5 cm H2O
d- 7 cm H2O
7) regarding the ventilation / perfusion ratio :

a- maximal perfusion is in the apex

b- it average about 0.8

c- the ventilation is higher at he base because of gravity 

8) the volume of air that can be expired after normal expiration by maximal expiratory effort is :

a- IRV

b- RV

c- TV

d- ERV

9) O2 binds strongly to Hb when :
a- ↓ H+

b- ↑ PCO2
c- ↓ 2,3 DPG

10) MRV at rest is :

a- 6 L

b- 5 L

c- RR × RV

d- 10 L
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